phép cong phan so (phan s thich hgp) (phan sd

khong ding)

Tén: Ngay thang: Piém:
2 5 6 2
— 4+ = — 4 - =
6 4 8 5
7 7 1 6
— 4+ - = — 4 — =
9 3 5 8
72 4 1
4 3 3 8
6 1 4 7
8 3 5 2
5 5 3 3
4 2 8 2
3 5 7 1
77 3 3
3 6 7 5
4+ = — 4 - =
2 8 2 7
4 7 6 3
— 4+ - = — 4+ - =
72 8 4
6 4 6 2
— 4+ - = — 4 - =
7 5 4 3
3 6 1 6
4+ - = — 4 — =
6 8 9 9
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phép cong phan s6 (phan sb thich hop) (phan sd

khong dung)
Tén Ngay thang: Piém:
2 5 19 7 6 2 23 3
S+l=_2=1> ="
6 4 12 12 8 5 0 20
7 7T 28 1 I 6 19
- =_=3 4=
9 3 9 9 5 8 0
7 2 29 5 4 1 35 11
=220 o= =1
4 3 12 12 3 8 2 24
6 1 13 1 4 7 43 3
o= =] o= — =4
8 3 12 12 5 2 1 10
5 5 15 3 3 3 15 7
4= =32 e
4 2 4 4 8 2 8 8
3 5 8 1 7 1 8 2
4+I=-=1- —4+-=2=2%
77 7 7 3 3 3 3
3 6 9 1 7 5 59
3,6.9 1 1,593
2 8 4 4 2 7 14 14
4 7 57 1 6 3 3 1
L= =4 —+I==1=
7 2 14 14 8 4 2 2
6 4 58 23 6 2 13 1
= =1 S+ = =0-
7 5 35 35 4 3 6 6
3 6 5 1 1 6 7
4+ ==1= _4+ ==
6 8 4 4 9 9 9
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